) Convert.

D 53— 2) ¢ 2 = 3) g2 =
5 8 10

4. == 5 6—= 6 5 i —
7

7 3 —= 8 3 i_ 9 6L_
12 11

10 4 — 11 8 i — 12 9 —
4 12 8

13 5 i — 14 3 £ — 15 5 m —
11 9 11

16 612 17 9L: 18 712
6 2 10
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) simplify the fractions.

16 _ 2)

30 10
40 30

s 6 _ 6 S _
8 12

7 E — 8/ ﬂ -
24 108

o) 4 _ 10 18 _
8 90

11) 20 — 12) 63 —
80 72



) Find the sum.

3l 32 2092 4 93
4 8 10 5

3 324 42 = v 524 4
11 3 8 10

5 8 L4 52 = 6 624+ 7 L=
9 11 7 2

n5 iy g 0102+ 7L =
2 4 3 7

9102+ 9L = 03 2431
10 12 8 3

YR A g 2] 2y 93
7 5 6 8
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) Find the difference.

U162 - 102 = 2072 5L
9 5 12 2

50§ 2. 32= $ 192 - 112=
10 3 3 8

513 - 1210 = 6 181 - 172 =
8 12 2 8

7. 14i_ 13l: 8 1 7 lgl:
10 3 12 5

0202 - 182 = 10192 _ 132 =
4 3 10 10



) Convert.
D 5g—-= 2 26, = * 387
* g5—= * 20--= © 2570 =
7) 921i0 = 8 41i0 = 9 5 5% —
0 g1—>= R Vere 2 9g-—=
' 56 = 507 = 15 7=
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